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reg_asym_saml_diff bpm1X_ slope vs run
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x2 | ndf 94.56 / 81

50| p0 -147.4 + 6.33

=50

-100

-150

—200 g+ L+ e

=B [
TN RO TEO N M SHMD “HSA ORI TRIRED @S CMRER0 NS P00 STROKE LAD6ID TN SR LADGO

pull

aEEREEE R (R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R R Entries 82
s 2+-- 1 Mean 56.77
Std Dev 5.688

|
N

40—
35

30

20
15

10

oLLLL

]

III|-|III|III|III

Std Dev 0.9186

-8

|III|JI_IT|I

-2

0

2

4

6 8




reg_asym_sam2_diff_bpm4eY_slope vs run
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reg_asym_sam2_diff_bpm12X_ slope vs run
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reg_asym_sam3_diff_bpm4eY_slope vs run
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reg_asym_sam4_diff bpm1X_ slope vs run
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reg_asym_samd4_diff_bpm4eX_slope vs run
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reg_asym_samd4_diff_bpm4eY_slope vs run
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reg_asym_samd4_diff_bpm12X_ slope vs run
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reg_asym_sam5_diff bpm1X_ slope vs run
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reg_asym_sam6_diff bpm1X_ slope vs run
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